English

OVERVIEW

)
X
o
<
>
wn
—
m
X

—

<
Ul
[0}
o

24



English

DETAIL VIEW A

085S wid3LSVIW 0dd

25

Version 1.1



English

PARTS LIST

ITEM NO. PART # DESCRIPTION Qry.
1 AZFPM0200 200-250 Gal Pro Master Frame 1
2 THD00250 250 Gal Sump Tank Only 1
3 CFLP16HV 16 inch Hypro Lid Hinged 1
5 APARDOO5 AR30 pump for landscape sprayer 1
10 AZPO1 11-16 x 7 7/8 in tie down pin 4
1 CHBZ030925 .375 x 2 Bolt 8
12 CHWZF035 3/8 Flat washer 16
13 CHNZINO0325 3/8 Nylock nut 12
14 CA300128 Tank Filter 16 inch-shallow 1
15 CBTF100 1" Poly Tank Fitting 1
16 CFPEO5SMO05B 1 inch Male thread x 1 inch hose barb 90 1
17 CBTC120 1-IN T Bolt Clamp [
18 CBO75CAP 1/2 and 3/4 Camlock cap 1
19 CBO75F Male adaptor x .75 MPT 1
20 CVPBV234 3/4 FPT Union Valve 1
0 21 CHWZF105 1 SAE FLAT WASHER 2
g 22 CFPS04M04B 3/4 Male thread to 3/4 hose shank 1
< 23 CA3132453 Automatic filter 1 1/4" 1
> 24 CA100525 1.25 BSP x 1 inch hose barb 1
1 25 CA2002050 Fly-Nut 1.25 1
m 26 CA116525 Hosetail D. IN for Fly-Nut 1 1
;g 27 CHBZ020725 5/16 x 1-1/2 bolt 4
wm 28 CHWZF025 5/16 Flat washer 1
(0] 29 CHNINO0225 5/16 Nylock nut 4
© 30 CHBZ800625 8 x 1.25 x 25MM Hex Head 8.8 3
31 CHWIL025 5-16 Lock Washer 3
32 CPFG15 3/4 Press fit hose grommet 1
33 CAG10051 O Ring EPDM 1
34 CAG40005 Flat Gasket EPDM 1
35 CLUPTC09005 1 IN PVC Water Suction Hose 1
36 CBHBT100-075 1x1x.75HB TEE 1
37 CLUPTC09005 580-1 IN PVC Water Suction Hose-HB Tee to Filter 1
38 CLUPTC09005 580-1 IN PVC Water Suction Hose-Pump to Filter 1
39 CLUESB020004 .75 EPDM Hose-return to tank 1
40 CLUESB020004 .75 EPDM Hose-from suction to shut off valve 1
41 CFCWO001 Clamp for 3/4 hose 3
53 CHBZ030525 3/8 x 1 bolt 4
54 CFBSO2FO1F .5 x .375 Brass Reducer Coupling 1
55 CLESB300001M03 .375 x 34 IN Univ Ag Spray Hose 1

26



DETAIL VIEW HOSE REEL

English

ITEM NO. PART # DESCRIPTION Qry.
1 AZKH0003 30-50 Base Mount HR Frame 1
2 AMAHO1GY HR030/050 REEL ONLY 1
3 CFRBO6 1/4-3/8 BSP FEMALE ELBOW 1
4 CFRBO7 STAINLESS PIPE 3/8 THREAD BOTH ENDS 1
5 CFRBO8 3/8 X 1/4 BALL BEARING SWIVEL 1
6 CHWIZF105 1 SAE FLAT WASHER 1
7 CFRHO3C PHENOIC TAPERED HANDLE 1
8 CFBSO1FOOM .375 FPT x .25 MPT Brass Adapter 2
9 CLPSO40001M 100 x .375 Ag Spray Hose 600PSI 1
10 CPLFO1 Heavy Duty Spray Gun STAL16-viton seals 1
1n CFBWO04MO4FB .5 M BSP - .5 F NPT Heavy Duty Swivel 1
12 CFBSO2MO1F .375 FPT x .5 MPT Reducer Bushing 1
13 AZKHO0018 Lock for Small Hose Reel 1

Version 1.1

27

o
©
n
=

z

(24
w
-
(7))
<
=
=)
(o2
a





